PHYSICS 104A, FALL 2018
MATHEMATICAL PHYSICS

Assignment Three, Due Friday, October 19, 5:00 pm.
[1.] Let F = 22927 + 2%]. Compute fPF d7 from the origin to (1,1) (a) along the path
y = z?; and (b) along the path y = 2. Comment on your results. Are they equal? Unequal?

What could you have done before even trying to get numerical results to decide whether the
two paths would be expected to yield the same answer?

[2.] Find the work done by the force F =zi+yj asone moves along the semicircle of
diameter 2 centered at the origin starting from (1, 0) and ending at (—1,0). How much work
is done in returning to the starting point along the diameter? What does this suggest about
the force? Verify your conjecture.

~ [3.] Show that the area enclosed by a counterclockwise curve C in the plane is given by

A=-1-j{ (zdy —ydz)
2 Jc

Verify the formula works for the triangle with vertices (1,0), (0,2), (—1,0).

[4.] Compute
/27r do
o 13+ 5sind
[5.] Compute
/°° z? dz
0 .’L'4 + 16

This problem closely parallels one of the examples in class. Nevertheless, explain indepen-
dently the various logical steps you go through, e.g. to get a closed contour to which you can
apply the ideas of complex integration. Can you do this problem by a method used in one
of your Math 21 classes, such as a trigonometric substitution?

[6.] The “Fermi function” f ( ) = 1/(¢PF + 1) plays a central role in the description of
electrons in solids. It gives the number of electrons in a state of energy FE if the system has
temperature kg7 = 1/8. (kg is Boltzmann’s constant.) If E is allowed to be a complex
number, locate the poles of f(E).

Extra credit (and very tricky): Evaluate (1/8) 3=, 1/ (iw, — E). Here w, = m(2n+1)/B are
the “Matsubara’ frequen(ues and n are all the integers. This is a very important identity
you will learn about in a 2nd year solid state physics grad course. It is very advanced stuff.
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#include <stdio.h> .
int main()

int i,N;
double integral=0.0,dx,x;

printf(" \n Enter N,dx ");
scanf("%si %Lf",&N,&dx):;

for (i=0;i<N;i++)

=dx*i;
integral = integral + x*x / ( 1.0 + x*x*x*x );

integral=integral*dx;
printf("\n integral is %12.81f \n",integral);

}
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#include <stdio.h>
#include <math.h>
int main()

int i,N;
double integral=0.0,dx,x;

printf(" \n Enter N,dx ");
scanf("%i %Lf",&N,&dx);

" for (i=0;i<N;i++)

X=dx*i;
integral = integral + x*x / ( 1.0 + x*x*x*x );

integral=integral*dx;

printf("\n integral is %12.8lf \n",integral);
integral=integral+1.0/ (N*dx); )
printf(“\n integral plus correction is %12.81f \n",integral);

N d v N A y~egral lv\)tdver{- Zm\y‘

Lroct = ) 11072



L/\

{
\

AR Y

‘0 The. (}\\%ﬂummm\\:w "QQ\E“‘\ = Q \NL'W‘ Q?E = -

TK;A OCcuyg m* Jhﬁm%?»a E = UWYﬁéanI) | Lw' \\=\w¥tguu

: p\j‘ 5*«%,\ in_ he e.,x-’)vu e vesd A J‘Y‘V';’hmv\j f\r@@r P

Ca H&J v M&\'}HQ\:@V&« [’v&‘%’\a(rﬁ\% v

LB he evedd The [V deay sbgesvalion s Jhok

Tre Fevan. fonche  $(E) = '/ @%g £ ) hey peley

ot fe Mabsbona  fequencies  (of we jod aw). In et

e Y eyt s OAp , c;‘;)«,nc:.{ l";l

I L

5‘ Pﬁwn
rl = e

Wi . N,
.‘3\ T —Utn)
g

T

: ( . g(e? “%M)*“ (ﬁ

¢
[ 1]
L}

Y

s (Erwad e = -




A

The  2nd k.eqabc»mvaﬂ‘aw s mat tf ve  hout

(P ”__

fe)

w TR fpw—b. od

2y M I’GAlM B"‘l

hew e i b

he)EO) hoy Raordue hizw) P

g h(z)

0a Qex»é;a

s well behouses

£, Hows

ﬂgm\m A, ?’MQL fo v &m,!:WJ\Q‘;i reftdues

B, = G-n)f)]

O ==

=)
)4

(2-m) W2 fe)]

= ‘B_g h(z)

2=
!

P

| %Q%%&Mw

Pt ey Hese

‘)‘@t}cﬁ&& e See f{hd

i T s (-t

wper

Aot

~ ool

b E i

%‘M \ Qahllw’”
64' \ for e fow

£osan,
Ty )

ey Ve

A
—




A suidelle conborr € W2 ]|

‘QM\Q.}!&-:% all peleq of ;iéx\ \ j% )
i/ o€ - 3

Ief F1

FV'O\‘”_’_‘_ ,,,,, ?_4%( ’5‘2..

a |
Q.
ot

-::o|:4

M
~=
3

K

ﬁw‘e‘ix W€ cow Aly;mfé C\ Yo C‘) \r‘\h iy "\Nﬁf\‘:ﬁ"‘& he. vjltr\-ﬁ:

Sy A ce. e 3@”’% &L}M C,,‘ }QC*z WCE. Cls“‘\\"“\ -Pw.éui %ung\f\h

"“W)“i ‘3‘ L —¥efa ans .

P

&,JJ 5?"*’—%\::‘““& AJE

; . v . ob€.
3 e ot e -x
o\ Cz.

A

pe h . :;;;.’ﬁf,’.g;l, pespibu€

TS ‘bq\awskﬁg dis G\

v/ % me

iy

 Pegdue, ck e se

R




S naded [~ e P’“V”d% Le e ij"“ . /}‘Z\ sa 0S4l \I‘t«v":\!

&JW&QW&M Vc‘:‘fﬁ\‘%“ é.(* ”"«ﬂc’m Jatde ‘:'L {HJM&CA"‘ N}

: ; ;
Q}c»;,}mm },;wabfe.m{‘ e o /el /7-3 f4';tv\dmﬂ JAO&;:MW

M*h'wy@(@ ’,




